


2.

A

Ton

1

® 91, of=el



3. e F Q7150 ANES BT 1AL,

@

©)

®

O
oo
—p

@

O




AU




k2] &0 2cm ¢ EHE 20 HHFE =2 A
£ oA L.

a = cm



oy

A
o8

Al

o

Hr
ol

BH

B Eol= 1k Ea
ol BAlo] Aol Bt syt
dolRot Zsytt.

® Folt % ¥
1 2] Aole] Ay,



7. 2P AAZE BE N5 GHoIE FHAL.

(6em)

2cn




4

2
il

F4ol7F 37.68 cm

8.

o1 AL

N

cm



9. e NEE B, ¥7]59] BEHClE FoAL.

O

\
\

l80m
/

@3 cm




10. ohe 97159 ARl F an? U7

10cm

O 942 cm? @ 1256 cm? @ 1884 cm?

@ 2198 cm? ® 2512 cm?



11.

o]7F12em Q] 97159 BHolE +



12. e AAEE WEIAE AT BulE oA 0.,

TTT-18.84em- 7 [Sem

D 150.76cm? @ 141.3cm? @ 132.66cm?

@ 130.88cm? ® 114.08cm?



13. AE=F | FrE oA L.




ol
mn
ﬂ
el
o1
e
il
o
o
M
il

o
e

ol
ﬂmo

Ao B Zol7t &

14.

P74

fife)

T

El

@ ForH

@ Aoy,

@ 7o afe} thg Y

<[z
o

4«

on



15.

w el
ol %

Hr m2

o

g

b:

o]7} 153.86 cm? Q1 €752

E
TIHA L.

cm

2ylo

17} 527.52 cm? 4 o,



16. 1cm? & Zst= 9 3mL 7F E= 79|
St o] 2o g 97152 9
S Hots b 25 9 mL 7 AR H A=

A FSHA L.

i
)

a = mL



17.

5 97159 o] 245 FaHA L.




18. the AHEE WEAE 47150 Bul7} 351.680m® & wf, FH]
A 42kg o) 2o Polg FatAlL.

O




19.

Y. ol o, g

B2l =%




20. the WHEFL 1313 oho] Yol YA=PS] BHo|S FoHAL,

-l
2c
A O
4em
\\
/B
4cn'E1
‘"I\ f
T=Tem-~



